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EEE | 3,667,000 10,952 11,830 | 22,782 0.30 0.32 0.62
ENE 636,000 1,503 2,373 3,876 0.24 0.37 0.61
ERE 439,000 777 1,893 2,670 0.18 0.43 0.61
R 739,000 1,267 3,157 4,424 0.17 0.43 0.60
2R | 3,327,000 8,425 11,370 | 19,795 0.25 0.34 0.59
FEE | 4,155,000 13,483 11,110 | 24,593 0.32 0.27 0.59
=B8R 939,000 2,142 3,391 5,533 0.23 0.36 0.59
HARE | 1,337,000 2,874 4,977 7.851 0.21 0.37 0.59
EFE | 1,356,000 3,148 4,807 7,955 0.23 0.35 0.59
B8 | 1,358,000 3,605 4,246 7.851 0.27 0.31 0.58
EWE 703,000 1,427 2,537 3,964 0.20 0.36 0.56
FTIE | 1,974,000 3,899 7,070 | 10,969 0.20 0.36 0.56
BEIE | 2,471,000 5,388 8,250 | 13,638 0.22 0.33 0.55
B 562,000 1,259 1,816 3,075 0.22 0.32 0.55
wmEE | 4,892,000 14,434 10,542 | 24,976 0.30 0.22 0.51
#Z=)118 6,088,000 18,287 12,731 | 31,018 0.30 0.21 0.51
HEE 917,000 1,502 3,114 4,616 0.16 0.34 0.50
=ZE | 1,197,000 2,248 3,382 5,630 0.19 0.28 0.47
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HERF |£EEEHA | —LZEDRE |/ \RER |[LEnEF [)L—L |ED/AX (@i
B m| EEEREAME |SNERERmE £k TN ETNnES B
FFLE 642,000 1,326 4,263 5,589 0.21 0.66 0.87
=518 487,000 1,543 2,596 4,139 0.32 0.53 0.85
dt 8 3,696,000 11,044 17,654 | 28,698 0.30 0.48 0.78
i=]=! 921,000 2,113 5,025 7,138 0.23 0.55 0.78
AERIR 1,139,000 4,171 4,487 8,658 0.37 0.39 0.76
MEE 694,000 1,718 3,410 5,128 0.25 0.49 0.74
=FE 850,000 1,856 4,400 6,256 0.22 0.52 0.74
IR 913,000 2,603 4,059 6,662 0.29 0.44 0.73
mEE 507,000 1,754 1,928 3,682 0.35 0.38 0.73
LER 1,859,000 5,792 7,394 | 13,186 0.31 0.40 0.71
fif] L IR 1,236,000 3,242 5,504 8,746 0.26 0.45 0.71
K& 749,000 2,079 3,104 5,183 0.28 0.41 0.69
=ER 939,000 2,487 3,983 6,470 0.26 0.42 0.69
HiEE 888,000 2,271 3,841 6,112 0.26 0.43 0.69
AR AT 1,755,000 5,449 6,579 | 12,028 0.31 0.37 0.69
GE 761,000 2,637 2,568 5,205 0.35 0.34 0.68
BHE 514,000 1,131 2,359 3,490 0.22 0.46 0.68
HEER 538,000 1,635 2,009 3,644 0.30 0.37 0.68
=GR 713,000 1,590 3,213 4,803 0.22 0.45 0.67
EER 1,308,000 3,136 5,671 8,807 0.24 0.43 0.67
EER 3,667,000 11,748 12,793 | 24,541 0.32 0.35 0.67
BEE 376,000 771 1,740 2,511 0.21 0.46 0.67
FTER 4,155,000 15,163 12,223 | 27,386 0.36 0.29 0.66
EIRE 915,000 2.555 3,422 5,977 0.28 0.37 0.65
HEE 1,314,000 4,060 4,385 8,445 0.31 0.33 0.64
EIREE| 1,066,000 2,370 4,473 6,843 0.22 0.42 0.64
B8 911,000 2,670 3,165 5,835 0.29 0.35 0.64
I B IR 1,358,000 3,955 4,711 8,666 0.29 0.35 0.64
ESEd 84,092,000 254,381 280,711 | 535,092 0.30 0.33 0.64
A= 739,000 1,411 3,273 4,684 0.19 0.44 0.63
KB AF 5,914,000 17,227 20,227 | 37,454 0.29 0.34 0.63
FRE 1,515,000 5,257 4,304 9,561 0.35 0.28 0.63
FIR 1,974,000 4,775 7651 12,426 0.24 0.39 0.63
N 1,337,000 3,353 5,040 8,393 0.25 0.38 0.63
EHIE 4,901,000 17,259 13,056 30,315 0.35 0.27 0.62
HER 917,000 2,011 3,658 5,669 0.22 0.40 0.62
BiRE 439,000 781 1,907 2,688 0.18 0.43 0.61
BER 4,892,000 17,835 12,018 | 29,853 0.36 0.25 0.61
= 1,558,000 4,986 4,517 9,503 0.32 0.29 0.61
REHE 1,356,000 3,380 4,884 8,264 0.25 0.36 0.61
12E R 3,327,000 8,612 11,412 | 20,024 0.26 0.34 0.60
8 636,000 1,517 2,308 3,825 0.24 0.36 0.60
IEE 562,000 1,450 1,866 3,316 0.26 0.33 0.59
MZ)IE| 6,088,000 22,005 13,504 | 35,509 0.36 0.22 0.58
EWE 703,000 1,446 2,563 4,009 0.21 0.36 0.57
Ednl 2,471,000 5,711 8,206 | 13,917 0.23 0.33 0.56
EE 8,696,000 29,798 15,823 | 45,621 0.34 0.18 0.52
=5E 1,197,000 2,698 3,535 6,233 0.23 0.30 0.52
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HEF |SEEBA [IL—LZ0E (BRI N\XER [LimE [IL—L4 |[#im/ X [t
g m| EEERERmE |BNiRERERmE |21 ZEk |SEElimEE |5
REERE 1,139,000 4,171 4,487 8,658 0.37 0.39 0.76
FEE 4,155,000 15,163 12,223 | 27,386 0.36 0.29 0.66
BER 4,892,000 17,835 12,018 29,853 0.36 0.25 0.61
#wZE)IEl 6,088,000 22,005 13,504 | 35,509 0.36 0.22 0.58
EHIE 4,901,000 17,259 13,056 | 30,315 0.35 0.27 0.62
AR 1,515,000 5,257 4,304 9,561 0.35 0.28 0.63
alE 761,000 2,637 2,568 5,205 0.35 0.34 0.68
EEE 507,000 1,754 1,928 3,682 0.35 0.38 0.73
E 5t 8,696,000 29,798 15,823 | 45,621 0.34 0.18 0.52
EEER 3,667,000 11,748 12,793 | 24,541 0.32 0.35 0.67
=R 1,558,000 4,986 4,517 9,503 0.32 0.29 0.61
SHE 487,000 1,543 2,596 4,139 0.32 0.53 0.85
LEE 1,859,000 5,792 7394 | 13,186 0.31 0.40 0.71
RANTE 1,755,000 5,449 6,579 | 12,028 0.31 0.37 0.69
HER 1,314,000 4,060 4,385 8,445 0.31 0.33 0.64
HEER 538,000 1,635 2.009 3,644 0.30 0.37 0.68
2E 84,092,000 254,381 280,711 | 535,092 0.30 0.33 0.64
JtiEE 3,696,000 11,044 17,654 | 28,698 0.30 0.48 0.78
BEHE 911,000 2,670 3,165 5,835 0.29 0.35 0.64
NG 5,914,000 17,227 20,227 | 37,454 0.29 0.34 0.63
I B IR 1,358,000 3,955 4,711 8,666 0.29 0.35 0.64
EIGE 913,000 2,603 4,059 6,662 0.29 0.44 0.73
EEE 915,000 2,555 3,422 5,977 0.28 0.37 0.65
KR 749,000 2,079 3,104 5,183 0.28 0.41 0.69
ERE 939,000 2,487 3,983 6,470 0.26 0.42 0.69
fid LU 2 1,236,000 3,242 5,504 8,746 0.26 0.45 0.71
2 3,327,000 8,612 11,412 | 20,024 0.26 0.34 0.60
WEE 562,000 1,450 1,866 3,316 0.26 0.33 0.59
HfEE 888,000 2,271 3,841 6,112 0.26 0.43 0.69
mARE 1,337,000 3,353 5,040 8,393 0.25 0.38 0.63
EFE 1,356,000 3,380 4,884 8,264 0.25 0.36 0.61
MEHE 694,000 1,718 3,410 5,128 0.25 0.49 0.74
RIBE 1,974,000 4,775 7,651 12,426 0.24 0.39 0.63
EER 1,308,000 3,136 5,671 8,807 0.24 0.43 0.67
FIINE 636,000 1,517 2,308 3,825 0.24 0.36 0.60
Eednil 2,471,000 5,711 8206 | 13,917 0.23 0.33 0.56
== 921,000 2,113 5,025 7,138 0.23 0.55 0.78
=HBR 1,197,000 2,698 3,535 6,233 0.23 0.30 0.52
BIFE 713,000 1,590 3,213 4,803 0.22 0.45 0.67
BIREE| 1,066,000 2,370 4,473 6,843 0.22 0.42 0.64
BHE 514,000 1,131 2,359 3,490 0.22 0.46 0.68
HEER 917,000 2,011 3,658 5,669 0.22 0.40 0.62
=EFE 850,000 1,856 4,400 6,256 0.22 0.52 0.74
FFRLE 642,000 1,326 4,263 5,589 0.21 0.66 0.87
ELE 703,000 1,446 2.563 4,009 0.21 0.36 0.57
BEE 376,000 771 1,740 2,511 0.21 0.46 0.67
R IR 739,000 1,411 3,273 4,684 0.19 0.44 0.63
EiRE 439,000 781 1,907 2,688 0.18 0.43 0.61




